2013-01-22 Tammirabbit

Jakotaulut

8 poytaa, 16 paria. Jakomdara: 14. Keski: 98. Vertailu.

Sija Pari Pisteet % Vert Nimi Kerho

1 3 127 64,8 2 Juho N&appd - Peter Soinu Salon BK

2 1 127 64,8 0 Seppo Lehtonen - Lasse Saloranta Salon BK

3 13 115 58,7 Leena Maenpad - Raija Berglund Salon BK

4 2 113 57,7 Kalle Kuisma - Antti Voitto Salon BK

5 11 112 57,1 2 Marko Médkinen - Timo Makela

6 17 112 57,1 0 Jorma Valiméki - Risto Noki Salon BK

7 16 110 56,1 Hannu Lindeberg - Tapio Kyrdénlahti Salon BK

8 18 109 55,6 Matti Alanko - Timo Alanko Salon BK

9 15 108 55,1 Merja Mols&d - Reijo Haartola Salon BK

10 4 88 44,9 Outi Ssakajarvi - Rauno Tasala Salon BK

11 6 85 43,4 1 Anne Vesanen - Terhi Mantyla Salon BK

8 85 43,4 1 Esa Leppanen - Ilmo Arosilta Salon BK

13 7 82 41,8 Laura Alopaeus - Seija Suominen Salon BK

14 5 77 39,3 Nina Virtanen - Essi Manninen

15 14 59 30,1 2 Pertti Lehtinen - Jaakko Viima

16 12 59 30,1 O Matti Rintala - Pekka Maenp&aa Salon BK
Jako: 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
11 18 2H S +1 DA 140 14 0 14 12 3N N +1 D2 630 14 0
15 16 2C W -2 D10 100 12 2 8 1 3Hx E -2 C4 300 12 2
4 3 1IN E -1 H2 50 707 4 3 3C N = SA 110 10 4
7 5 1IN E -1 C9 50 707 6 2 3H E -1 Cé6 50 77
14 12 2H W -1 S2 50 707 7 5 2H E -1 C4 50 707
17 13 2s W -1 DQ 50 77 11 18 4C N -1 D3 -100 3 11
8 1 1IN E = S6 -90 2 12 17 13 3C N -1 D3 -100 3 11
6 2 2S5 S -3 DA -150 0 14 15 16 2H E = S7 -110 0 14
Jako: 3 Jako: 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
11 14 3N N +2 H3 460 14 0 11 14 3N N +2 S3 660 14 0
5 4 4s s +1 C3 450 12 2 1 6 3N S +1 C5 630 11 3
1 6 3N N = SK 400 10 4 8 2 3N N +1 C4 630 11 3
7 3 3C S +2 s10 150 8 6 16 17 1D N +3 S9 130 8 6
12 18 3C S +1 HS8 130 6 8 5 4 3N N -1 83 -100 3 11
13 15 2D N = SQ 90 4 10 7 3 3N S -1 S5 -100 3 11
8 2 4s s -1 HA -50 113 12 18 3H S -1 S5 -100 3 11
16 17 3N N -1 D3 -50 113 13 15 3D N -1 S9 -100 3 11
Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
6 5 3N N = HA 600 14 0 14 16 3N S +3 H10 490 14 0
1 4 1IN S +2 H3 150 12 2 1 4 3N S +2 H2 460 11 3
12 15 1s s +2 C8 140 10 4 13 18 3N S +2 HS8 460 11 3
2 7 2N S = HA 120 707 2 7 3N S +1 Cé6 430 8 6
8 3 1IN S +1 D6 120 707 17 11 3N S = H8 400 6 8
17 11 1D S +1 HA 90 4 10 12 15 2N S +3 s4 210 4 10
13 18 1D S -2 H3 -200 2 12 6 5 2N S +1 H2 150 2 12
14 16 3Ssx S -2 C5 -500 0 14 8 3 3D N = HS 110 0 14
Jako 7 Jako 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 6 5D W -2 CA 200 14 0 3 1 4H S +1 C3 450 14 0
11 12 4s E -1 CK 100 11 3 2 5 3N N +1 C3 430 11 3
13 16 4s E -1 C5 100 11 3 13 16 3N S +1 Cé6 430 11 3
2 5 35S E = H4 -140 8 6 8 4 3N S =C3 400 6 8
8 4 2D W +3 HI10 -150 6 8 11 12 3N N = D2 400 6 8
3 1 5D W = H10 -600 4 10 1517 3N S = 87 400 6 8
14 18 4S5 E = C8 -620 113 14 18 1IN S +2 C8 150 2 12
15 17 4SS wW = D8 -620 113 7 6 1IN S +1 C3 120 0 14
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
15 18 3N W -2 C8 200 14 0 1 7 7N N = HS8 2220 14 0

16 11 2N S -2 HS -100 12 2 3 6 6N N +1 H6 1470 12 2



1 7 2SS W +1 CA -140 707 16 11 5D N = H6 600 10 4
3 6 25 W +1 H3 -140 707 8 5 3D N +4 87 190 8 6
8 5 2S5 W +1 H3 -140 77 4 2 3D N +3 Hé6 170 5 9
14 17 3S W = C5 -140 77 12 13 3D N +3 H6 170 5 9
12 13 2S5 W +2 H2 -170 2 12 15 18 2D N +3 H8 150 2 12
4 2 3N E = Cl0 -600 0 14 14 17 3D N +1 HS8 130 0 14
Jako: 11 Jako: 12

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 7 5C S = HK 400 11 3 13 14 3H E -3 DJ 150 14 0
15 11 3N S = H2 400 11 3 4 7 28 S =Cé6 110 11 3
16 18 5C S = D9 400 11 3 8 6 25 S = H4 110 11 3
17 12 5C s = s10 400 11 3 17 12 3S S -1 H6 -100 8 6
2 1 4C S +1 HK 150 3 11 16 18 2H W +1 S8 -140 6 8
5 3 3C S +2 D9 150 3 11 2 1 35 S -2 Cé6 -200 4 10
8 6 3C S +2 HK 150 3 11 15 11 4s S -3 D4 -300 2 12
13 14 4C S +1 H2 150 3 11 5 3 4Sx S -2 HQ -500 0 14
Jako: 13 Jako: 14

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
16 12 3N N +2 sS4 660 14 0 18 17 6S W -1 D7 50 14 0
3 2 5H N = g7 650 8 6 16 12 3S W +1 CK -170 12 2
5 1 4H N +1 sS10 650 8 6 6 4 35 W +2 H4 -200 10 4
6 4 4H N +1 C9 650 8 6 3 2 4s wW = 359 -420 8 6
8 7 4H N +1 D4 650 8 6 5 1 4s W +1 C2 -450 3 11
11 13 4H N +1 87 650 8 6 8 7 4S W +1 D7 -450 3 11
18 17 4H N = 510 620 2 12 11 13 4s W +1 S9 -450 3 11
14 15 3H N +1 S10 170 0 14 14 15 4s W +1 D7 -450 3 11
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